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MATHS

BOOKS - PSEB

LINEAR EQUATIONS IN TWO
VARIABLES

1. The cost of a notebook is twice the cost of a

pen. Write a linear equation in two variables


https://doubtnut.app.link/lkek2J5wfhb
https://doubtnut.app.link/MVcbJvrhfnb
https://doubtnut.app.link/MVcbJvrhfnb
https://dl.doubtnut.com/l/_QbTRFWf4IxXs

to represent this statement.

o Watch Video Solution

2. Express the following linear equations in the
form ax + by + ¢ = 0 and indicate the values of

a,b and c in each case: 2z + 3y = 9.35

o Watch Video Solution

3. Express the following linear equations in the

form ax + by + ¢ = 0 and indicate the values of


https://dl.doubtnut.com/l/_QbTRFWf4IxXs
https://dl.doubtnut.com/l/_fj1QoNUC2zcg
https://dl.doubtnut.com/l/_NP1EPKSa23uP

a,bandcineachcase:m—%—1020

o Watch Video Solution

4. Express the following linear equations in
the form ax 4+ by + ¢ = 0 and indicate the
values of a, b and c¢ in each case:

—4xr + Ty =6

° Watch Video Solution



https://dl.doubtnut.com/l/_NP1EPKSa23uP
https://dl.doubtnut.com/l/_v3Y8qi5jnJiP

5. Express the following linear equation in the
form ax + by + ¢ = 0 and indicate the values of

a, b and cin each case. x = 3y.

o Watch Video Solution

6. Express the following linear equation in the
form ax + by + ¢ = 0 and indicate the values of

a,b and cin each case. 2x = — 5.

o Watch Video Solution



https://dl.doubtnut.com/l/_PLIx3NfO3V8P
https://dl.doubtnut.com/l/_LktHHyfTlDpa
https://dl.doubtnut.com/l/_KTp3wvZJIY2M

7. Express the following linear equation in the
form ax + by + ¢ = 0 and indicate the values of

a,b and cin each case. 3z + 2 = 0.

o Watch Video Solution

8. Express the following linear equation in the
form ax + by + ¢ = 0 and indicate the values of

a,bandcineachcase.y — 2 = 0.

o Watch Video Solution



https://dl.doubtnut.com/l/_KTp3wvZJIY2M
https://dl.doubtnut.com/l/_PNDELsYeN0Ie
https://dl.doubtnut.com/l/_rLvjzLxcD0MT

9. Express the following linear equation in the
form ax + by + ¢ = 0 and indicate the values of

a, b and cin each case. 5 = 2x.

o Watch Video Solution

10. Which one of the following option is true

and why ? y = 3z 4+ 5 has

A. a unique solution,

B. only two solutions,

C. infinitely many solutions


https://dl.doubtnut.com/l/_rLvjzLxcD0MT
https://dl.doubtnut.com/l/_y3Kw2oFpZLAA

Answer:

o Watch Video Solution

11. Write four solutions for the following

equation: 2x +y = T.

° Watch Video Solution



https://dl.doubtnut.com/l/_y3Kw2oFpZLAA
https://dl.doubtnut.com/l/_MBw9Y73lRPtz

12. Write four solutions for each of the

following equations: 4z +y =9

o Watch Video Solution

13. Write four solutions for each of the

following equations: x = 4y

o Watch Video Solution



https://dl.doubtnut.com/l/_jMBNFlKd20iZ
https://dl.doubtnut.com/l/_2hLuyBxjCsHQ

14. Check which of the following are solutions
of the equation z — 2y =4 and which are

not: (0, 2)

o Watch Video Solution

15. Check which of the following are solutions
of the equation =z — 2y = 4 and which are

not: (2, O)

o Watch Video Solution



https://dl.doubtnut.com/l/_d2LnSR1rbIHD
https://dl.doubtnut.com/l/_dYehnmzYMCUC
https://dl.doubtnut.com/l/_NxYqJctaHqpD

16. Check which of the following are solutions
of the equation =z — 2y = 4 and which are

not: (4, 0)

o Watch Video Solution

17. Check the following is solution of the

equation z — 2y = 4 or not. (1/2, 4,/2)

° Watch Video Solution



https://dl.doubtnut.com/l/_NxYqJctaHqpD
https://dl.doubtnut.com/l/_jhGsGwfOMKti

18. Check which of the following are solutions
of the equation =z — 2y = 4 and which are

not: (1, 1)

o Watch Video Solution

19. Find the value of k if x =2,y =11is a solution

of the equation 2x + 3y = k.

° Watch Video Solution



https://dl.doubtnut.com/l/_dgSEoqsys7xp
https://dl.doubtnut.com/l/_QGESkTDSiaLg

20. Draw the graph of each of the following

linear equations in two variables: z + y = 4

° Watch Video Solution

21. Draw the graph of each of the following

linear equations in two variables: z—y = 2

o Watch Video Solution



https://dl.doubtnut.com/l/_aXe1eEnpDXH0
https://dl.doubtnut.com/l/_x2WfuAQ6KaUe

22. Draw the graph of each of the following

linear equations in two variables: y = 3z

° Watch Video Solution

23. Draw the graph of each of the following

linear equations in two variables: 3 = 2z + y

o Watch Video Solution



https://dl.doubtnut.com/l/_Immo4PiHhVm4
https://dl.doubtnut.com/l/_unX5TDlUfY8S

24. Give the equations of two lines passing
through (2, 14). How many more such lines are

there, and why?

o Watch Video Solution

25. If the point (3, 4) lies on the graph of the

equation 3y = ax + 7, find the value of a.

° Watch Video Solution



https://dl.doubtnut.com/l/_hHXtGS6AXahQ
https://dl.doubtnut.com/l/_WvX54oTENU8s

26. The taxi fare in a city is as follows : For the
first kilometre, the fare is Rs.8 and for the
subsequent distance it is Rs.5 per kilometre.
Taking the distance covered as x km and total
fare as Rs.y, write a linear equation for this

information and draw its graph.

o Watch Video Solution

27. From the choices given below, choose the

equation whose graphs are given :-For Fig. 4.6


https://dl.doubtnut.com/l/_LhNB9rdpuj7W
https://dl.doubtnut.com/l/_QGgpVn0EVJOx

Ay==x
B.x +y=20
Cy=2

D.2+4 3y =Tz


https://dl.doubtnut.com/l/_QGgpVn0EVJOx

Answer:

o Watch Video Solution

28. From the choices given below, choose the

equation whose graphs are given in figure.

Ay==x+ 2
B.y=x — 2
Cy= —x+2

D.z + 2y =6


https://dl.doubtnut.com/l/_QGgpVn0EVJOx
https://dl.doubtnut.com/l/_lqe8jMsbF8S5

Answer:

° Watch Video Solution

29. If the work done by a body on application
of a constant force is directly proportional to
the distance travelled by the body, express this
in the form of an equation in two variables
and draw the graph of the same by taking the
constant force as 5 units. Also read from the
graph the work done when the distance

travelled by the body is :-2 units



https://dl.doubtnut.com/l/_lqe8jMsbF8S5
https://dl.doubtnut.com/l/_RHEPB83xtwsY

[ o Watch Video Solution

30. If the work done by a body on application
of a constant force is directly proportional to
the distance travelled by the body, express this
in the form of an equation in two variables
and draw the graph of the same by taking the
constant force as 6 units. Also read from the
graph the work done when the distance

travelled by the body is:- 0 unit

o Watch Video Solution



https://dl.doubtnut.com/l/_RHEPB83xtwsY
https://dl.doubtnut.com/l/_lLKuI5XezepB

31. Yamini and Fatima, two students of Class IX
of a school, together contributed ¥ 100
towards the Prime Minister’s Relief Fund to
help the earthquake victims. Write a linear
equation which satisfies this data. (You may
take their contributions as ¥ x and ¥ y.) Draw

the graph of the same.

o Watch Video Solution



https://dl.doubtnut.com/l/_zfKcWilrOb5S

32. In countries like USA and Canada,
temperature is measured in Fahrenheit,
whereas in countries like India, it is measured
in Celsius. Here is a linear equation that

converts Fahrenheit to Celsius:
9
F = (3)0+32 Draw the graph of the

linear equation above using Celsius for x-axis

and Fahrenheit for y-axis.

o Watch Video Solution



https://dl.doubtnut.com/l/_JMeGBUUoKf2k

33. The function 't' which maps temperature in
degree Celsius into temperature in degree

L 9C
Fahrenheit is defined by t(C) = = + 32

Find:- t(-10)

o Watch Video Solution

34. In countries like USA and Canada,
temperature is measured in Fahrenheit,
whereas in countries like India, it is measured

in Celsius. Here is a linear equation that


https://dl.doubtnut.com/l/_ztbazyUxbSdT
https://dl.doubtnut.com/l/_hVysiivBmMqF

converts Fahrenheit to Celsius:
9
F = (E)C + 32 If the temperature is 95° F,

what is the temperature in Celsius?

o Watch Video Solution

35. In countries like USA and Canada,
temperature is measured in Fahrenheit,
whereas in countries like India, it is measured
in Celsius. Here is a linear equation that

converts Fahrenheit to Celsius:

9
F = (3)0 + 32 If the temperature is 0° C,


https://dl.doubtnut.com/l/_hVysiivBmMqF
https://dl.doubtnut.com/l/_b6TGmqk2VB2M

what is the temperature in Fahrenheit and if
the temperature is 0°F, what is the

temperature in Celsius?

o Watch Video Solution

36. In countries like USA and Canada,
temperature is measured in Fahrenheit,
whereas in countries like India, it is measured
in Celsius. Here is a linear equation that

converts Fahrenheit to Celsius:

9
F = (3)0—1—32 Is there a temperature


https://dl.doubtnut.com/l/_b6TGmqk2VB2M
https://dl.doubtnut.com/l/_nqC4nNa6EdxF

which is numerically the same in both

Fahrenheit and Celsius? If yes, find it.

° Watch Video Solution

37. Give the geometric representation of y = 3

as an equation in one variable.

o Watch Video Solution

38. Give the geometric representation of y = 3

as an equation in one variable.


https://dl.doubtnut.com/l/_nqC4nNa6EdxF
https://dl.doubtnut.com/l/_tiDCESJL8oDd
https://dl.doubtnut.com/l/_hfU4mnHXTHtB

° Watch Video Solution

39. Give the geometric representation of

2z + 9 = 0 as an equation in one variable.

o Watch Video Solution

40. Give the geometric representation of

2z + 9 = 0 as an equation in one variable.

° Watch Video Solution



https://dl.doubtnut.com/l/_hfU4mnHXTHtB
https://dl.doubtnut.com/l/_OMdelDSZhTGk
https://dl.doubtnut.com/l/_DQQ9LoqrJJHH

1. Write the following equations in the form ax
+ by + ¢ = 0 and indicate the values of a, b and

c in each case: 2x + 3y = 4.37

o Watch Video Solution

2. Write the following equations in the form ax
+ by + ¢ = 0 and indicate the values of a, b and

cin each case: z — 4 = /3y

I o Watch Video Solution


https://dl.doubtnut.com/l/_yEwzkRYpsBWo
https://dl.doubtnut.com/l/_DQHfJOBmM9CM

3. Write the following equations in the form ax
+ by + ¢ = 0 and indicate the values of a, b and

c in each case: 4 = 5x — 3y

o Watch Video Solution

4. Write the following equations in the form ax
+ by + ¢ = 0 and indicate the values of a, b and

c in each case: 2z = y

o Watch Video Solution



https://dl.doubtnut.com/l/_DQHfJOBmM9CM
https://dl.doubtnut.com/l/_0eo87iKjlkJ2
https://dl.doubtnut.com/l/_OX1xszmOKVmM

5. Write the following as an equation in two

variables: x = -5

o Watch Video Solution

6. Write the following as an equation in two

variables: y =2

° Watch Video Solution



https://dl.doubtnut.com/l/_OX1xszmOKVmM
https://dl.doubtnut.com/l/_T3iGXUYBauXr
https://dl.doubtnut.com/l/_cV84A0VH9tZ4

7. Write the following as an equation in two

variables: 2x =3

o Watch Video Solution

8. Write the following as an equation in two

variables: 5y = 2

o Watch Video Solution



https://dl.doubtnut.com/l/_nTd8mkMeCXxj
https://dl.doubtnut.com/l/_rqLuXKMDhO89

9. Find four different solutions of the equation

X+ 2y =6.

o Watch Video Solution

10. Find two solutions for the following

equations: 4z + 3y = 12

o Watch Video Solution



https://dl.doubtnut.com/l/_IR1WkHpgTXzE
https://dl.doubtnut.com/l/_lQ9gsAigqRxj

1. Find two solutions for the following

equations: 2z 4+ 5y = 0

o Watch Video Solution

12. Find two solutions for the following

equation : 3y +4 = 0.

o Watch Video Solution



https://dl.doubtnut.com/l/_Iea7XilSrJHR
https://dl.doubtnut.com/l/_NB9bqDxNOkiv

13. Given the point (1, 2), find the equation of a
line on which it lies. How many such equations

are there?

o Watch Video Solution

14. Draw the graph of x +y =7.

o Watch Video Solution



https://dl.doubtnut.com/l/_UzoYOhowkKqa
https://dl.doubtnut.com/l/_C02MXwKwgNhk

15. You know that the force applied on a body
is directly proportional to the acceleration
produced in the body. Write an equation to
express this situation and plot the graph of

the equation.

o Watch Video Solution

16. For Fig. 4.5 (i), select the equation whose

graph it is from the choices given below:


https://dl.doubtnut.com/l/_ILPaNclxTERE
https://dl.doubtnut.com/l/_8r2WAQChAXZy



https://dl.doubtnut.com/l/_8r2WAQChAXZy

Answer:

° Watch Video Solution

17. For Fig. 4.5 (ii),select the equation whose

graph it is from the choices given below:


https://dl.doubtnut.com/l/_8r2WAQChAXZy
https://dl.doubtnut.com/l/_iG5HfOUesria

Az +y=20

B.y =2z

Cy=2x+4


https://dl.doubtnut.com/l/_iG5HfOUesria

Dy=x —4

Answer:

o Watch Video Solution

18. For Fig. 4.5 (iii), select the equation whose

graph it is from the choices given below:


https://dl.doubtnut.com/l/_iG5HfOUesria
https://dl.doubtnut.com/l/_nWTnGj1tYDxg

Az +y=20

B.y =2z

Cy=2x+1


https://dl.doubtnut.com/l/_nWTnGj1tYDxg

D.y =2x — 4

Answer:

o Watch Video Solution

19. Solve the equation 2x + 1 = x - 3, and
represent the solution(s) on (i) the number

line, (ii) the Cartesian plane.

o Watch Video Solution



https://dl.doubtnut.com/l/_nWTnGj1tYDxg
https://dl.doubtnut.com/l/_n4Q2zRTzD3IG

